I  OFFENWANGER

fluid components

Xonoounvnasa mexnHuka

2/2-xon0BbIE
Pa3Mepr Conenonnm,le KJIallaHbI
s Tpyo D oT 6 — 42 mm
KJIIAIIaHOB
Howmep Bce pasmepbl B MM
r;f:g:a MpucoepuHenne 1. Tpyoer SW A B C D E F G H J K
VAAS50/53 nog naiky 6 14 78 45 51,5 23 30 38,5 27 14 14 M3x5
VABS0/53 noA namky 10 14 88 7,0 52,0 23 30 38,5 27 14 14 M3x5
VBA10/13 nog pa3bopToBKy 6 24 57 75 56,5 23 30 38,5 30 24 24 M4x6
VBA50/53 noA namky 6 24 78 5,0 58,5 23 30 38,5 30 24 24 M4x6
VBB10/13 nog pasboproeky 10 24 62 9,0 58,5 23 30 38,5 30 24 24 M4x6
VBB20/23 pesnHoBoe konblo 10 24 54 9,0 58,5 23 30 38,5 30 24 24 M4x6
VBB50/53 noA namky 10 24 88 7,0 60,5 23 30 38,5 30 24 24 M4x6
VBC10/13 nog pasboproBky 12 24 66 10,0 60,0 23 30 38,5 30 24 24 M4x6
VBC20/23 pesnHoBOe Konbllo 12 24 58 10,0 60,0 23 30 38,5 30 24 24 M4x6
VBC50/53 nogA namky 12 24 9% 8,0 61,5 23 30 38,5 30 24 24 M4x6
VBD10/13 nog pasboptoBky 16 24 70 12,0 61,0 23 30 38,5 30 24 24 M4x6
VBD20/23 pesnHoBOe konbllo 16 24 66 12,0 61,0 23 30 38,5 30 24 24 M4x6
VBD50/53 noa namky 16 24 100 10,0 63,5 23 30 38,5 30 24 24 M4x6
VBE20/23 pesnHoBOe Komblo 22 24 74 13,5 62,5 23 30 38,5 30 24 24 M4x6
VBES0/53 noa namky 22 24 110 13,0 66,5 23 30 38,5 30 24 24 M4x6
VCD50/53 noa namky 16 36 120 12,0 84,0 26 40 45,0 40 30 30 M5x6
VCE50/53 noa namky 22 36 120 16,0 87,0 26 40 45,0 40 30 30 M5x6
VCF50/53 noa namky 28 36 120 16,0 87,0 26 40 45,0 40 30 30 M5x6
VDF01/04 noa namky 28 32 140 20,0 98,0 26 40 45,0 55 42 42 M8x8
VDG01/04 noa namky 35 32 140 200 98,0 26 40 45,0 55 42 42 M8x8
VDHO01/04 noa namky 42 32 140 230 1015 26 40 45,0 55 42 42 M8x8
F
Pg11
E (tonwmHa) éé
@HHHH\HHH\H °
° X
o Sw J
. S
Noscoepesue 1y \ DIN 43650A 5 reteAmgetenn
m \ == @ *
“\_pvicoeguHenvie Tpy6km

fany
A\

fx

000 "OcbpeHBaHrep”  KupouHas p.40 opuc 6. 191123 Cankr-Tetepbypr, Poccust  Ten.: 8 (812) 928 7242 dakc: 8 (812) 441 3047 info@offenwanger.ru  www.offenwanger.ru



